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HKPhO 7 #4722 2012
Rules and Regulations 3584 ||

. All questions are in bilingual versions. You can answer in either Chinese or English.
e R BB U - Sl L [ -

. The multiple-choice answer sheet will be collected 1.5 hours after the start of the contest. You can
start answering the open-ended questions any time after you have completed the multiple-choice
questions without waiting for announcements.
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. Please follow the instructions on the multiple-choice answer sheet, and use a HB pencil to write
your 8-dight Participant ID Number in the field of “I. D. No.”, and fill out the appropriate circles

fully. After that, write your English name in the space provided and your Hong Kong ID number in
the field of “Course & Section No.”
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. After you have made the choice in answering a multiple choice question, fill the corresponding
circle on the multiple-choice answer sheet fully using a HB pencil.
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. On the cover of the answer book, please write your Hong Kong 1D number in the field of “Course
Title”, and write your English name in the field of “Student Name” and your 8-dight Participant I.
D. Number in the field of “Student Number”. You can write your answers on both sides of the
sheets in the answer book.
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. The information provided in the text and in the figure of a question should be put to use together.
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. Some open problems are quite long. Read the entire problem before attempting to solve them. If
you cannot solve the whole problem, try to solve some parts of it. You can even use the answers in
some unsolved parts as inputs to solve the others parts of a problem.
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The following symbols and constants are used throughout

otherwise specified:
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the examination paper unless

FRIER I [ RIS [ 91 ﬁ%'ﬁﬁ‘r ‘

Gravitational acceleration on Earth surface FIZRAE U HVE g |9.8m/s°
Gravitational constant %9/ B G |6.67 x 10 N m%/kg?
Radius of Earth #9549 @ Re | 6378 km

Sun-Earth distance [t -Fy SR i re | 1.5x10"m

(= 1 Astronomical Unit (AU)) (= 1 =¥ #1 1+ (AU))

Mass of Sun [T E! Msun | 1.99 x 10%¥kg

Mass of Earth #Y5RITEl Me | 5.98 x 10%kg

Air Density 2 5% o | 1.2kg/m®

Water Density “J<7 % ow | 1.0 x 10° kg/m®
Standard atmosphere pressure FEVEA B Po | 1.013 x 10° N/m?
Charge of an electron - b e [16x107C
Permittivity constant 7' A & |8.85x10C/(Vm)
Electron mass 75— #TE| me |9.11 x 10™! kg
Speed of light in vacuum Hr 24 3 c |3.0x10%miss

Trigonometric identities:
= EJ,@ [\T‘rm‘ G -

srn(x+ y) =sinXcosy +cosxsiny
Sin2x = 2sinXCOSX

sinxcosy = %[sin(x+ y) +sin(x—y)]

sinxsiny = %[cos(x— y) —cos(x+y)]

cos(X+Yy) =cosxcosy—sinxsiny
C0S2X = €0S” X —sin® X

COSXCOSY = %[cos(x +y)+cos(x—y)]

The following conditions will be applied to all questions unless otherwise specified:

1) All objects are near Earth surface and the gravity is pointing downwards.

2) Neglect air resistance.
3) All speeds are much smaller than the speed of light.
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Multiple Choice Questions
(2 points each. Select one answer in each question.)
S (SR 250 0 DIR[0
The MC questions with the “*’ sign may require information on page-3.
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1. Asshown in Fig. 1, a boy is riding on a bus. The bus moves with a uniform speed of 20 km/h in a
horizontal circle, and the traffic light is located at the center of the circle. What is the velocity of
the traffic light relative to the boy?

A) 20 km/h in the forward direction of the bus

B) 20 km/h in the backward direction of the bus

C) 20 km/h perpendicular to the forward direction of the bus and directed away from the bus
D) 20 km/h perpendicular to the forward direction of the bus and directed towards the bus
E) 0 km/h

20 km/h
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A) 20 km/h === 14 2 H R

B) 20 km/h == 14 Fij:& ﬁﬂ[ﬂj
C) 20 km/h == 1 FiaE ™, [HJ
D) 20 km/h == 14 & )=
E) 0 km/h

Figure 1
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2. A tennis ball machine is installed on the bus in Fig. 1. It projects tennis balls at a speed of 100
km/h in the direction perpendicular to the forward direction of the bus, and on the outward side of
the circular path. The trajectories of the tennis balls observed by the boy are
A) straight lines perpendicular to the forward direction of the bus
B) straight lines slightly inclined towards the forward direction of the bus
C) straight lines slightly inclined towards the backward direction of the bus
D) curves slightly inclined towards the forward direction of the bus
E) curves slightly inclined towards the backward direction of the bus
[t 1 pro= 1 e F PGSR AN o SEFENT I 100 km/h it S R Bl e T |
e ﬁ%%ﬁﬁ*%%@?ﬁwﬁ$@wi
A) =S FREY = lgu@h&k
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3. A man sits in the back of a canoe in still water. He then moves to the front of the canoe and sits
there. Neglecting the damping of water, the final position and the motion of the canoe is:
A) forward of its original position and moving forward
B) forward of its original position and moving backward
C) rearward of its original position and moving forward
D) rearward of its original position and moving backward
E) rearward of its original position and not moving
&ﬁmﬁmfﬂlwﬁigwaﬁwﬁm%@moFﬂﬁammﬁﬁ%%wﬁm%m%ﬁ%@fmo%néﬁ
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4. A boat is about to cross a river to the opposite bank. The river water flows at a speed of 4 km/h. If
the speed of the boat is 3 km/h, what should be the angle between the boat velocity and the
upstream direction of the river, so that the downstream displacement is minimum when the boat
reaches the opposite bank?

AR T-FEVE ~ ST PSR 7 SRS 4 kmvh © FIGRES 3 km/h » MBS
SIS B EYY > H P S B o 2R mw*%”t 3=
A) o° B)37°  C)41° D)53° E)90°

5. *In a talent show, a juggler juggles 4 balls simultaneously, as shown in
Fig. 2. A spectator uses his high speed video tape and determines that it
takes the juggler 0.9 s to cycle each ball through his hands (including
catching, transferring and throwing) and to be ready to catch the next
ball. It is noted that at most one ball must be in a hand of the juggler in
each cycle of juggling. What is the minimum vertical speed the juggler
must throw up each ball?

A~ 2 IR 4 SR ) It 2 e Bl
TREEABST TS A @Iﬁfi‘n : ﬁ:‘T“J 0.9 s A== = [l 5R( Euﬁ&% o

SRFMER) o ARROCH MR T BK o PR R AR - TR Figure 2
Bl B O 8 R G- R o R PIRIO R
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A)9.3m/s B)1l4m/s C)128m/s D)13.2m/s E)17.6 m/s

6. As shown in Fig. 3, the block-spring system is in 3k

equilibrium provided that the left spring is :
stretched by x;. The whole system rests on a 'VU\NVVV’L
smooth supporting surface. The coefficient of k

static friction between the blocks is u, and the W

blocks have equal mass m. What is the maximum
amplitude of the oscillations of the system such Figure 3
that the top block does not slide on the bottom one?

f/[lugﬂ 2 . — B -G S AR A SR EL Tﬂgﬁi‘flﬁ[ﬁli@ Flx o = —ﬁnﬁi T
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A) ﬂszr;g +%  B)4kx —umg C) ﬂsk X D) 22k +4,mg)  E) 2(2ky —1,mg)




7.
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*An object is projected up an inclined plane with an initial
speed of vo = 10 m/s, as shown in Fig. 4. The angle of the
incline is @ = 30° above the horizontal direction and the
coefficient of the sliding friction g = 0.1, determine the
total time for the object to return to the point of projection.
~ PARHAA UL Vo = 10 mis 1T DI 4 T o A
Pt (RERL = 307 » PR E L 4 = 0.1 > TP
U FBTREF -

A)381s B)4.26s C)454s D)4.94s E)5.32s

V, =10m/s

Figure 4

*As shown Fig. 5, a train with a length of L = 500 m moves by its inertia through the horizontal
section of a railroad. However, the train encounters a small hill that slopes gently. With what
minimum speed v can the train cross the hill? The base of hill has a length /= 100 m, the lengths
of the slopes are /; =80 m and 7, = 60 m. The slopes of hill can be considered as straight lines
and the small section of rounding at the top of the hiII can be ignored. Neglect any friction.

U 5 T o - IR AT L =500 m o TR AT B T SRESEE- ]
:°%%ﬁ%ﬂﬁ%ﬁ@ﬁ@v@@Hj?Hg@3L&%m’mgﬁ@wh—%mﬂﬂz
=60m - plﬂﬂwww\ BLFIRN— CFRT) 22p o i) e ] o

A)9.6m/s B)1ll5m/s C)132m/s D)150m/s E)16.2m/s

9.

10.

Figure 5

It is given the mass of Earth is a times that of Moon, and the radius of Earth is b times that of
Moon. The period of a simple pendulum is T. When it is carried to Moon, the period of the simple
pendulum becomes

SUHIBYZRAVEVEL RLE [ SRV a [ 0 PSR @ RLEISRIY b I‘F"[ 3t |- 'ﬁ?ﬂ%g T R ]
BT BRI B
A) ET B) g‘l’ C) %T D) ﬁ'|' E) \/g—l-

There exist some triple star systems in the universe. They are more distant from other stars, and
are composed of three stars of equal mass M. The gravitational forces due to other stars can be
neglected. A basic stable structure of triple star systems consists of three collinear stars, with two
companion stars moving around a central star on a circular orbit with radius R. The linear velocity

of the companion stars is v, =k,vGM /R, where k; =

B e R D RGEE © 1ITTRI ML B S i
P BB P . ”‘%ﬁ{?ﬂ*ﬂg’ti Z B R - k'zlﬂﬁww o= H'F[
BRI s R B R TR A R w@ﬁ¢fﬁﬁolﬁﬁ%U@@%
vi=ki7/GM /R » =t H[ ky =

A)V10 B)+5 C)+B/2 D)5/2 E)35/2

(END OF MC’s ;Z#%fH% )
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Open Problems BeRE
Total 6 problems #{ 6 &

The Open Problem(s) with the ‘*’ sign may require information on page 3.
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Q1* (10 points) 1> (1053 )

The helicopter has a mass m and maintains its
height by imparting a downward momentum to
a column of air defined by the slipstream Y
boundary as shown in Fig. 6. The propeller '
blades can project a downward air speed v,
where the pressure in the stream below the
blades is atmospheric and the radius of the
circular cross-section of the slipstream is r.
Neglect any rotational energy of the air, the
temperature rise due to air friction and any
change in air density p. Figure 6

(a) Determine the power P required of the engine.

(b) If the power is doubled, calculate the acceleration of the helicopter.

EH{ ﬁgls—mﬁﬁl m> ]‘mﬁf—k F”F‘}J = 1“'5,?@“} ‘}“é}ﬁ"‘ﬁlﬁl%’f o %af‘f F” F#Z/[Iqﬁsﬁl 6 - o
e gﬁH gja?;wk,@mi frh P EEE] v sk Hlpﬂg&g{m#\%n EV@F{ » ST LRI
o p e F‘ P EPE 2 S P g~ A s e g E py S AT SO pudy @
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Q2* (10 points) B 2* (1055)

As shown in Fig. 7, in a ski jumping competition on a slope with inclination angle &

= 60°, an althlete jumps at point O with initial speed vo = 25 m/sand lands at point-A. —
(a) Find the optimum jumping angle « so that the distance OA is maximum. (You

may need to use trigonometric identities listed in page 3.)

(b) Find the maximum distance OA. 0
ypqﬁ[ 7HT 0 T E 0= GO0 [l o T R lgfyjﬁﬂgr < SEEIELTEE I'%‘[*%IFO
PIRE vo=25m/s ~ [[F o iﬁn&fg.}%{ﬁi FAEFF O-~A px&ﬁuﬁ'

{Z‘F L £5 8 Bt
()7 ST F V1) 2R SR AHAE OA OB o o (Ve ) MIE(BY 3 1A= £ 80 <)
(b) ek Et PHEE OA -

Figure 7

Q3* (15 points) B 3* (1557)

On a smooth horizontal surface shown in Fig. 8, there is a rectangular board AB with mass 2m and an
arc-shaped structure BC with mass 3m. The coefficient of kinetic friction of the upper surface of the
rectangular board is ¢ = 0.35, and the surface of the arc-shaped structure BC is smooth. The arc BC
subtends a right angle with radius R. The two objects touch at point B.

(@) A small object of mass m moves from A to the right with an initial velocity vo = 10 m/s on the
upper surface of the rectangular block. When it reaches point B, the velocity is v =5 m/s. Calculate the
velocity v, of the rectangular board AB at this instant.

(b) The small object continues to move onto the arc-shaped surface BC. The rectangular board AB
loses contact with the arc-shaped structure BC, and the small object continues to to move along the arc
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surface, and finally just reaches the highest point C of the arc BC. Calculate the velocity of the arc-
shaped structure vg.

(c) Calculate the length L and the radius R.

TR ES 2m ElfJ;'%%?E AB AT E! £ 3m Elfj[éiléf}?% BC ﬁﬂh} [ﬁl 8 Hlpfj%’iﬁﬁﬁﬂ‘ [ ;%“B?Ef%
[ B S Rty = 0.35 [EH@T?E} BC %E-wﬁﬂ%@%’?ﬁ[&ﬂ?’} o [T BC [1u7k £ E@@l FloREELR
[P/IIAC B R - | .. | ,
(8) FVEL ST m 1 L3I A BT TSI Vo= 10 mis R RS EATRIT R - Y B R
A ED v =5mis o TR IR AB gl v o

(0) IR TR 1 BC o U F AB AR BC AL B (AL [T A
PR BRG] BC FAURERIC « SRR T BC ik ve -

(©) FEFRL LAINS 2R -
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Al Zm 3m
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Figure 8

Q4* (10 points) R 4* (1057)

Geosynchronous satellites have the same period T as the Earth’s rotation. They are at such a height
above the earth’s surface h that they remain always above the same spot. Suppose a geosynchronous
solar satellite, as shown in Fig. 9a, sends radio signal directly to receivers on earth.

Figure 9a

When the satellite moves to the rear part of the earth (Fig. 9b), the light source is completely blocked
by Earth in the shadow region (commonly known as an umbra). The length of the umbra is usually n
times (n = 200) of Earth’s radius Re.

(a) Determine the height h. Express your answer in units of Re.

(b) Determine the duration in each day that the satellite cannot receive sunlight. Express your answer
in minutes.

Figure 9b
8
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Q5* (20 points) B 5% (2055)

Let re = 1.00 AU be the circular orbtal radius of Earth around Sun, and ry = 0.72 AU be the circular
orbital radius of Venus around Sun. To launch a space probe from Earth to Venus, the space probe
first enters Earth’s orbit and moves to a position sufficiently remote from Earth, so that the
gravitational attraction of Earth is negligible when compared with the gravitational attraction of Sun.
Then, the following manouvers as shown in Fig. 10 are performed:

(1) The kinetic energy of the space probe is reduced by AK =K(rg — ry)/(re + ry), where K is the kinetic
energy of the space probe at that instant. This is done by switching on the engine for a short time and
then switching it off. The space probe then enters a transfer orbit around the Sun. The transfer orbit is
tangential to Earth’s orbit at its near end and to Venus’s orbit at its far end.

(2) When the space probe touches Venus’s orbit, the space probe is traveling too fast for it to land on
Venus. For the second time, the Kinetic energy is reduced by switching on the engine for a short time
and then switching it off. The space probe then travels at the orbital velocity of Venus.

Transfer

— —

Figure 10
(a) Calculate the orbital gpeed of Earth and Venus. Express your answer in km/s.
(b) Calculate the speed (in km/s) of the space probe in the transfer orbit at point E.
(c) Calculate the speed (in km/s) of the space probe in the transfer orbit at point V.
(d) Calculate the fractional reduction of the kinetic energy of the space probe at point V.
& re = 1.00 AU FBPERE *mWW“£W#W’w-0nAUE£E e IR B of
o S BRI | o B R e frza. CEEELE
Rt il > FIFEappud AR R | JJ : H I ’”E FPED e IREAPTOHEE S IR 11 EJﬁél‘ﬁi
(1) FIERERPVEIRlE (R AK = K(r =, ) I(rz +1,) fth%%Wé-viﬁilE%p’ﬁﬂﬁi
S 1 FESIGIE » SREHATY 17 - PERIRENTIE  Hige SRS < gl e
LIS SRR L I
2) f AT B R E”@ﬁﬁ A TR = B A Wﬁ%%: CRFEY (B EAg
Eﬂjra SR BB |1 o N I IEEFI AR EAL O I
(a) FOFF BTIYERANL B Jm 1) kmis t I S S -
(mﬁﬁﬁ%ﬂfiﬁyﬁ¢E%w$}"mmhﬁﬁiﬁ%%
(c) FEET BRI @Pﬁiviﬁﬁ}’Immtﬁ#%é?%o
(d) FHIS T EFEEOE VR = [SSAYEF SR B (1 ey
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Q6 (15 points) FHe6 (1557)
As shown in Fig. 11, a pendulum consists of a massive cubic block with side length b and density p,
hung by a light rigid rod with length L >> b. The hinge connecting the rod and the block maintains the
block at the same orientation when it swings. The block is partially immersed in a liquid with density
M, With o greater than p,. The immersion depth of the block in the liquid is c.
(a) Calculate the period of the pendulum for small oscillation angles ¢ when c is sufficiently small.
You may assume that the damping of the liquid during oscillations is negligible, and the change of the
immersion depth during oscillations is negligible.
(b) When liquid is added, the liquid level rises, and the value of ¢
reaches a threshold value c*, above which the pendulum rod is no |
longer vertical. What is the espression of ¢*?
(c) When c is above c*, the pendulum oscillates about a non-zero
angle ¢. Calculate the period of the pendulum for small oscillations
when the liquid level has risen to one that corresponds to ¢ = 30°.
i 10 B o e e~ AR TUE! 19 ?654@@&%3@_
[ PRI B e ORI b e o SRR
L>>b o sfifE =AA %?ﬂﬂ A w’ﬁ?%éﬁgwﬁ o1t ﬂjrﬁg
ARG Tl I o R R R L p 0 U
]EF S ijga = ﬂ?‘z*ﬁﬂf[l PO £ ¢ o

(@) & ETET’E, chsip Jlﬂﬁ];g e itoAi=g) #Z:Flﬁpﬂ [« ' 1) .

i@%'*@ﬁﬁf ’ ﬁ‘gﬁaﬁmnu fr IR }Lj Al }l@%%ﬁﬁlﬁﬁf Figure 11

St *B%Ex [ﬂ&ﬁgﬂipu < SRR ] 24
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